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e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Wﬁﬁw:

(i)  FFI B T GEIT26 8 |

(i) @ geT e &

(iii) 9% J99 & 3b 3HF GHT 3iHd & |

(iv) ¥97 &1 1-10 % 3T Tg-IR qct 397 8 | I8 37 #711 3% & | 577 @
Jcdeh Y97 7 I 20 ieg] & 37fer &7 787 511 T80 |

(v) ¥ G 11-20 7% TY-IR qI7 Jo7 8 | F9F Jo7 F 3 3F 3 | 599 & T
9T Gog-STERT 8 | $98 @ JAF F97 H IR 80 5G] & 371 FHT T8 FT
15T |

(vi) I97 GEIT21 - 25 T%F FH-FH GIci Jo7 & | Y4 J97 & 5 3H 5 | 570 @
Jedh J97 H7 I 150 Feq] & 37fer &7 787 517 =159 |

(vii) Y97 GEIT 26 FHEEA W 15T TT 9i7ifcie Femn &1 ggE 3N [T o oa
THIHT HH G Galea & |

(viii) TAR K YR & 17U 77 IGT-FrfE] B 377+ FTH-Ji&as] & @i 8 7a97
T BTy |

(ix) @-FEEF 917 & forg @ia a7 et & 317 #1 gt 3 s 2

General Instructions :

(1) There are 26 questions in all.

(it)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv)  Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v) Questions No. 11 — 20 are short-answer questions carrying 3 marks each.
Out of which one question is a value based question. Answer to each of
these questions should not exceed 80 words.

(vi)  Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Question No. 26 is related to identification or locating and labelling of
geographical features on maps.

(viit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(ix)  Use of templates or stencils for drawing outline maps is allowed.
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10.

11.

12.

13.

64/2/2

‘g i ardtaes gy w1 1 Farsy | 1

Give the meaning of ‘actual growth of population’.

‘Tt S 1 31 SdTsy | 1
Give the meaning of ‘slum’.
YA < a4 S0l SR &aTs 9o o1 19 Sdrsy | 1

Name the southernmost international airport of India.

“aftags’ ree <A1 it ST | 1

Define the term ‘transport’.

HTS ! WIS < JagH W AT TI@ Y5 g0 1 A FaTsy | 1
Name the major sea-port situated at the head of Gulf of Kuchchh.
T & e TR 1 Teh IS ST | 1

Give an example of a tourist town from India.

S 3T Teive & Foht To aTel Hew@yul TT-eh SIeHT <l 919 TSy | 1

Name the important inland waterway that passes through Germany and
the Netherlands.

‘Tg SEEar e Ed 7 2 1
What is ‘ageing population’ ?
ORd U 37 T 9 ISR hl AThNd hH | ford T=T T 98T TAM 2 2 1

Which state occupies the first place in the attraction of in-migrants from
other states in India ?

A § o A S FERAT acd TS 1 T Fd13 | 1
Name the state where female literacy is lowest in India.

‘greftor Tfed S fRE #Ed € ? YA § 39 YR Y Sfe o fama & Rl

Tl I I TIE HIT | 1+2=3

What is ‘clustered rural settlement’ ? Explain any two reasons for the
development of such settlements in India.

ATHa faenTd o e U bl fepmal i faiarstt it samen hifse | 3x1=3

Explain any three characteristics of ‘welfare approach’ to human
development.

‘AT T TR i T ISR Higd T8 HIfT | 3x1=3

Explain with three examples ‘the naturalization of humans’.

3 P.T.O.



14. SHEEAT T Yo hi GRETT ST | HfiE SHEE Oca R SRR ST

IEET 9 | fae 8 2 T8 hifv | 1+2=3

Define the term ‘density of population’. How is agricultural density of
population different from physiological density of population ? Explain.

15. = feu 7o a@fe =1 stema e ot 3 = few g & s e
1+1+1=3

(15.1) "M | fo@i 78 98 f vg=m Fifve 3t 3w am fafee |
(15.2) NII=d ¢ o &Y &t o R o TYgT Io sl 91 Famsy |
(15.3) 39 g sh! WEwl TqY ST |
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Study the map given below and answer the questions that follow :

—— Ship Canal
XXX Railway Line
i = === Limit of Canal Zone

(15.1) Identify and name the canal shown on the map.

(15.2) Name the sea-port at the end of the canal along the Pacific
coast.

(15.3) Explain the importance of this canal.
64/2/2 5 P.T.O.



Fig:  [AElciiaga 397 Fae gieaniad wheieEl & 077, 397 G891 15 @ €U W& -

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 15 :

(15.1) 3TCATCH HEETR JW I HEETR ohl e arcil d8¢ ol A

§drsq |
(15.2) TIH T IR & oI 30 T80 o Hgwd 1 qUH HIWT | 1+2=3
(15.1) Name the canal that joins the Atlantic Ocean and the Pacific
Ocean.
(15.2) Describe the significance of this canal to the United States of
America.
16. WA T =g o= 1mavask 7 2 fohegl 9 shrun =l T8 I | 3x1=3

Why is irrigation necessary in India ? Explain any three reasons.

17. 9Nd ¥ YH@ 39910 €93 i feufa o fo@m at om@ &1 steed Hifve o
35k A= fou e el o 3 R 1+1+1=3

64/2/2 6



3 TG G <h! UgIH SHIfT 3T IHeRT A1 FqTsT |

(17.1)
(17.2) 39 §9F  foIw =ik <l MMYfd ST aTel Aid I 3g@ T |
(17.3) 3@ USF 1 9 sars¢ foad I8 g9 foord 3 |

Study the diagram showing the location of a major steel plant in India and

answer the questions that follow :

Steel Plant

To Bokaro
s

&
- ;_.\}
s @
” >
, e
. T
-~ g
= <
7 3
. 8
Hirakud Dam M

\

s Steel Plant
@ Limestone

3¢ Iron-ore
ma—sma~ Railway

Identify and name the steel plant.

(17.1)
(17.2) Mention the source of power supply to this plant.
(17.3) Name the state in which this plant is located.

64/2/2
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Fig:  [EliEgd 397 o gIRETaT et & o, 397 G& 17 F T W
Note : ihe following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 17 :
(17.1)  9RA ® ST o TGI8 T fhU T $¥9Td HF 1 19 FdTs |
(17.2) 98 39 9RA % fop8 T © 6o B 2
(17.3) 39 ¥ < foTu wifch <l 31T <1 | -1 8 ? 1+1+1=3

(17.1) Name the steel plant which was established in collaboration
with Germany in India.

(17.2) In which state of India is this plant located ?
(17.3) What is the source of power supply to this plant ?

18. WRA § ‘91Y WG % fhedl &1 Y@ Wil I Ig@ HINT | T T W 91
TGWUT % ehig &l BI-ehReh THTE fAfay | 1+2=3

Mention any two main sources of ‘Air Pollution’ in India. Write any two of
its harmful effects on human health.

19. YRd ¥ WA TEEE] o G AT AEE H g 2 hIE dF HRU T

i | 3x1=3

Why is there an urgent need to conserve the mineral resources in India ?
Explain any three reasons.

20. TeuT=Sl Wow o WHR &3 % fqew H weEe gy fheal 9 wmifore qeai
Y HIWT | 3x1=3

Explain any three social values which have been helpful in the
development of Bharmaur region of Himachal Pradesh.

21. ‘Faferear wed’ sree Y uftyrer ST | W o IR TR bl 38N gied
Wy IV | 1+4=5

Define the term ‘medical tourism’. Explain the four tourist attractions
with examples.

64/2/2 8



22.

23.

24.

25.

26.

64/2/2

UG H A0 TAAT THTT o gHeT 3IUFCdd forgl o Tmemedi <hl amed
ST | 37 uitasd fauar & Tl < el =1 9o i | 248=5

Explain any two problems faced by inland waterways in India. Describe

any three advantages of this mode of transport.

AT MR & T T ToHl &1 A Y HiGW | ‘39l qo-1i 3R
‘FrEAT TEEl H SR $E HIT | 3+2=5

Explain the significance of ‘Ports’ in the development of international

trade. Differentiate between ‘Entrepot Ports’ and ‘Naval Ports’.

HIYEUE TH TUEAT o MY TR IR < T1&ET i & a7t § aiffepd Hig |
et <l g foemmansti &1 guiq i | 1+2+2=5

Classify the mode of communication on the basis of scale and quality into

two categories. Describe the main features of each category.

TER H T TR o T "estt Wl w@ 3uH $i i foheal 9ia fomiwaredi
! =TT HIRT | 5x1=5

Explain any five characteristics of ‘Market Gardening and Horticulture’

practised in the world.

(26.1) HEAR % TG TC ToHIfoeh {@I-AFRH (I8 13 W) H, IR A&7 A, B, C
3N D sifrd fpr . B | 37 @O H g A TS SRR
Tee § hifo 3 39k T&l A9 9 {ehe Gidl T8 W@ret W foifau :
4x£:2
2
T 1Y I
UR-T3a & IHTT o &R 1 T©e3[

0 P *1 T ARl &
bR H Had BT oW

S a % >
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(26.2) WRA o feu MU qorHifas @-AFRE (98 15 W) #H, f=faRad i
feufa suge fosl g femmse of 3 am fafw 3x1=3
(i) TH AP TTEEIT & Tcd dTel T
(i) IHI & IcqTed | Ol T
(iil) TS § TSR a1 qeH

(26.1) In the given political outline map of the World (on page 13), four
features have been shown as A, B, C and D. Identify them with
the help of the information given below and write their correct
names on the lines drawn near them :

A.  An airport
A terminal station of Trans-Siberian Railway

An important area of dairy farming

oSauw

The smallest country in Africa

(26.2) On the given political outline map of India (on page 15), locate
and label the following with appropriate symbols :

(i) The state having highest density of population
(i1)) The leading state in the production of coffee
(iii) The international airport in Gujarat
Fie :  FHECTRIT 97 Facl FIBETAT Tigniaal & o/, J97 G&7 26 & €& T

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 :

(26.1) TN HEMEFR & Y IR-GEEEE e & R & T &1 W
feflaw |

(26.2)  3ThHIhHT T T BT I hIH-AT B 2

(26.3) YRd o TeH 31feeh SHEEAT o Hcd aTcl TsF Sl 719 73T |

(26.4) YRA T HIF-AT TST Hh! & 3cqTed H U B 2

(26.5) TSId H fE¥d AP A1 U< 1 A9 FdTST | 5x1=5
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(26.1)

(26.2)
(26.3)
(26.4)

(26.5)

Name the terminal station of Trans-Siberian Railway line along
the Pacific Ocean.

Which is the smallest country of Africa ?
Name the state of India having highest density of population.
Which is the leading state of India in the production of coffee ?

Name the international airport located in Gujarat.
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For question no. 26.1

9 E. 26.1 & foU
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For question no. 26.2

I G. 26.2 & foU

WRA T WET-HHAT (T Tes)

Outline Map of India (Political)

15
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